GENERAL NOTES SECTIONS

A.CONCRETE & FOUNDATION DESIGN:

— 1. ALL CONCRETE AND FOUNDATIONS ATTACHED TO

THE HOST STRUCTURE SHALL HAVE A PRE
INSPECTION

2 ALL CONCRETE GRADE BEAMS AND FOOTINGS SHALL

BE 3000 PSI MINIMUM.

3 ALL CONCRETE FILLED SUPPORTED SLABS SHALL BE
2500 PSI MINIMUM, 3 1/2" NOMINAL THICKNESS.

4 FIBERMESH (3/4” PER CUBIC YARD MIN ) MEETING

APPROPRIATE ACI AND ASTM REQUIREMENTS MAY BE

USED IN LIEU OF WELDED WIRE MESH

5 ALL SLABS ON GRADE SHALL BE A MINIMUM OF 4”
THICK WITH FIBERMESH.

6 ALL REINFORCING SHALL CONFORM TO ASTM A615,

BE GRADE 60 (60 KSI MIN ) DEFORMED BARS, #3 BARS

MAY BE GRADE 40

7. ALL OVER POUR CONCRETE FILLED SUPPORTED SLABS

SHALL BE 3000 PSI MIN., 2" MINIMUM THICKNESS.
8. SOIL BEARING PRESSURE SHALL BE A MINIMUM OF
1500 PSF
9 THE CONCRETE SHALL CONFORM TO ASTM C94 FOR
THE FOLLOWING
91 OPC(PORTLAND CEMENT TYPE 1,- ASTM C 150)
9.2 AGGREGATES - #6 STONE , ASTM C 33 SIZE NO 67
LESS THAN 3/4".
AIR ENTRAINING +/- 1% - ASTM C 260
WATER REDUCING AGENT - ASTM C 494
CLEAN POTABLE WATER.
OTHER ADMIXTURES SHALL NOT BE PERMITTED
10 METAL WELDED WIRE SHALL CONFORM TO ASTM A
185
11 PREPARE & PLACE CONCRETE ACCORDING TO
AMERICAN CONCRETE INSTITUTE MANUAL
STANDARD PRACTICE, PART 1, 2, & 3 ALONG WITH
HOT WEATHER CONDITIONS RECOMMENDATIONS.

12 IF UTILIZING EXISTING CONCRETE FOR FOUNDATION,
CONCRETE SHALL BE A MINIMUM OF 4" IN THICKNESS,

VISIBLY FREE OF ANY STRUCTURAL EXCESSIVE
CRACKING, SPALLING OR OTHER DETERIORATION

B. MASONRY:

1 CONCRETE MASONRY UNITS (CMU) SHALL BE
STANDARD HOLLOW UNITS AND SHALL BE 2000 PSI
MINIMUM BASED ON TYPE M OR S MORTAR.

2. ALL MORTAR SHALL BE OF TYPEM OR S

3. ALL GROUT SHALL BE 2000 PSI MINIMUM AND HAVE
MAXIMUM COARSE AGGREGATE SIZE OF 3/8"

4. PROVIDE CLEAN-OUTS FOR REINFORCED CELLS
CONTAINING REINFORCEMENT WHEN GROUT POUR
EXCEEDS 5'-0" IN HEIGHT

C. ALUMINUM;
1 ALLSTRUCTURAL ALUMINUM SHALL CONFORM TO

THE MINIMUM REQUIREMENTS OF 6005-T5 FOR
ALLOY WITH A MINIMUM THICKNESS OF 0 040" FOR
SUPPORTING MEMBERS.

2. WHERE KICK PLATES ARE USED A MINIMUM
THICKNESS OF 0 024" SHALL APPLY

3 STRUCTURAL ALUMINUM DESIGN CONFORMS TO
“PART 1-A - SPECIFICATIONS FOR ALUMINUM
STRUCTURES - ALLOWABLE STRESS DESIGN” OR
“PART 1-B - SPECIFICATIONS FOR ALUMINUM
STRUCTURES - BUILDING LOAD AND RESISTANCE

FACTOR DESIGN” OF THE ALUMINUM DESIGN MANUAL

PREPARED BY THE ALUMINUM ASSOCIATION,
INC.WASHINGTON D.C. FLORIDA BUILDING CODE
EIGHTH EDITION (2023), BUILDING (CHAPTER 16
STRUCTURAL DESIGN & CHAPTER 20 ALUMINUM)

4 WHERE ALUMINUM COMES INTO CONTACT WITH
STEEL, OR PRESSURE TREATED LUMBER PROVIDE
DIELECTRIC SEPARATION

5 ALUMINUM SELF MATING BEAM MEMBERS SHALL BE

STITCHED WITH NO LESS THAN #10 SMS 6" FROM THE

ENDS AND 12 ON CENTER, IF USING #12 SPACING
MAY BE 24' ON CENTER.

6. VINYL AND ACRYLIC PANELS SHALL BE REMOVABLE
THEY SHALL BE IDENTIFIED WITH A DECAL
ESSENTIALLY STATING "REMOVABLE PANEL SHALL
BE REMOVED WHEN WIND SPEEDS EXCEED 75 MPH"
DECAL SHALL BE PLACED S0 IT IS VISIBLE WHEN
PANEL IS INSTALLED VINYL AND ACRYLIC PANELS
MAY NOT BE USED IN FLOOD ZONE A.

7

1"X2"X0 040 NON-STRUCTURAL MEMBERS SHALL BE
ATTACHED TO HOST WITH 1/4' @ X 1-3/4"
EMBEDMENT & 24" O C, MASONRY SCREW FOR
CONCRETE & EQUIVALENT SIZE WOOD SCREW WHEN
IN WOOD & #10X 1/2" EMBEDMENT SMS OR TEK
SCREWS IN ALUMINUM MEMBERS TYPICAL.

D. FASTENERS:

1

9

ALL LAG BOLTS SHALL CONFORM TO STAINLESS
STEEL TYPE 300 18-8, WITH STANDARD FLAT
WASHER UNLESS MANUFACTURER GALVANIZES
BOLTS SPECIFIES FOR USE WITH ACQ PRESSURE
TREATED WOOD.

HEX BOLTS HAS TO BE ASTM A 325, PLATED WITH
STANDARD FLAT WASHERS AND NUTS

ALL CONCRETE SCREWS SHALL BE, SIMPSON, HILTI,
RAWL, TAPCON, REDHEAD, DYNABOLT, PORTECT OR
APPROVED EQUAL.

. ALL METAL TIES AND ASSOCIATED ACCESSORIES

SHALL BE HOT DIPPED GALVANIZED.

ALL LAG BOLTS SHALL HAVE A MINIMUM
EMBEDMENT OF 8X BOLT DIAMETER INTO
STRUCTURAL FRAMING (G=.42 MIN )

LAG BOLTS AND SCREWS INTO WOOD FRAMING SHALL
BE PROVIDED WITH PILOT HOLES HAVING A
DIAMETER NOT GREATER THAN 70 PERCENT OF THE
THREAD DIAMETER OF THE BOLT OR SCREW ALL LAG
BOLTS AND SCREWS SHALL BE INSERTED IN PILOT
HOLES BY TURNING AND UNDER NO CIRCUMSTANCES
BY DRIVING WITH A HAMMER.

ALL EXPANSION ANCHORS SHALL BE DESIGNED IN
ACCORDANCE WITH THE SPECIFIC MANUFACTURER'S
REQUIREMENTS AND ALLOWABLE LOADS AND SHALL
ONLY BE APPLIED IN CONDITIONS ACCEPTABLE TO
MANUFACTURER. FASTENERS SHALL BE A MINIMUM
OF SAE GRADE #5 OR BETTER ZINC PLATED

ALL FASTENERS CONNECTING ALUMINUM
COMPONENTS OR PRESSURE TREATED LUMBER ARE
STAINLESS STEEL TYPE 300 18-8, UNLESS
MANUFACTURER GALVANIZED BOLTS SPECIFIES FOR
USE WITH ACQ PRESSURE TREATED WOOD, OR
OTHERWISE NOTED ON PLANS

ALL FASTENERS SHALL COMPLY WITH ASTM A153,

10 ALL CONNECTORS SHALL COMPLY WITH ASTM A653

CLASS G-185

11 FOR SMS, THE MINIMUM CENTER-TO-CENTER

SPACING SHALL BE 3/4' AND MINIMUM
CENTER-TO-EDGE SHALL BE 1/2" UNLESS NOTED
OTHER WISE

E. REFERENCE STANDARDS: (CURRENT EDITIONS OF)

ASTME 119

ASTM E 1300

ASCE7

ALUMINUM DESIGN MANUAL-AA ASM35, AND SPEC FOR
ALUMINUM PART 1-A, & 1-B
ASTM C94

ASTM C150

ASTM €33

ASTM C260

ASTM C494

ASTM A615

ASTM A185

FLORIDA BUILDING CODE

E. ABBREVIATIONS:

THE FOLLOWING LIST OF ABBREVIATIONS IS NOT

INTENDED TO REPRESENT ALL THOSE USED ON THESE
DRAWINGS, BUT TO SUPPLEMENT THE MORE COMMON
ABBREVIATIONS.

N U wN R

1

TYP -- TYPICAL

SIM -- SIMILAR

UON -- UNLESS OTHERWISE NOTED
CONT -- CONTINUOUS

VIF -- VERIFY IN FIELD

SMB -- SELF MATING BEAM

FSM -- FLORIDA SALES AND MARKETING

G. RESPONSIBILITY

ALL SITE WORK SHALL BE PERFORMED BY A
LICENSED CONTRACTOR IN ACCORDANCE WITH
APPLICABLE BUILDING CODES, LOCAL ORDINANCES,
ETC

CONTRACTOR SHALL VERIFY ALL DIMENSIONS AND
DETAILS, NOTIFYING ENGINEER OF ANY
DISCREPANCIES BETWEEN DRAWINGS, FABRICATED
ITEMS, OR ACTUAL FIELD CONDITIONS

THESE DRAWINGS REPRESENT THE ACCEPTABILITY

OF THE 'SUNROOM' ROOM ADDITION ELEMENTS AS
PROVIDED BY THE CONTRACTOR.

ALL DETAILS ON THESE DRAWINGS ARE ENGINEERED
BASED ON INFORMATION PROVIDED BY THE
CONTRACTOR AND MANUFACTURER.

ANY DETAILS NOT SHOWN ARE TO BE ENGINEERED
BY A LICENSED P.E. IN ACCORDANCE WITH STANDARD
ENGINEERING PRACTICES

WHEN ATTACHING TO FASCIA, THE HOST STRUCTURE
SHALL HAVE AT LEAST A 2"X4" FASCIA AND ROOF
TRUSS SYSTEM CONTRACTOR SHALL VERIFY THIS
AND IF SMALLER, CONTRACTOR SHALL BRING
STRUCTURE UP TO A 2' X4" FASCIA AND ENSURE LESS
THAN A 2'-0" OVERHANG

FBC PLANS & ENGINEERING SERVICES INC. DOES NOT
WARRANT, EITHER EXPRESSLY OR IMPLIED, THE
QUALITY OF THE CONSTRUCTION, AND ISNOT
RESPONSIBLE FOR THE INTERPRETATION OF DESIGNS
AND END USE BY THE CLIENT/CONTRACTOR.
CONTRACTOR TO VERIFY FEMA FLOOD ZONE OF THE
PROPOSED STRUCTURE LOCATION TO ENSURE
STRUCTURE IS NOT WITHIN SPECIAL FLOOD HAZARD
AREAS

H, MISCELLANEOUS:
1.

ALUMINUM ADDITIONS ARE NOT TO BE INSTALLED
ON A MANUFACTURED HOME, TRAILER HOME, OR
PRE-FAB HOME IF THE EXISTING STRUCTURE IS ONE
OF THESE, A SEPARATE 4TH WALL SUPPORT SYSTEM
MUST BE ENGINEERED SO THAT NO ADDITIONAL
LOADING IS PLACED ON THE MANUFACTURED HOME.
IF ENCLOSURE CONTAINS A SWIMMING POOL OR SPA,
THE ENCLOSURE SHALL COMPLY WITH RESIDENTIAL
SWIMMING BARRIER REQUIREMENTS OF FLORIDA
BUILDING CODE EIGHTH EDITION (2023),
RESIDENTIAL R 4501 17 IN ITS ENTIRETY
DOOR LOCATIONS MAY BE DETERMINED IN THE FIELD
BY CONTRACTOR.
IF PAVERS ARE UNDER ALUMINUM MEMBERS THEY
SHALL HAVE EPOXY ADHESIVE TO CONCRETE OR IF
USING GROUT, ENSURE BONDING AGENT IS USED
FIRST AND ADHERED WITH MINIMUM 900 PSI
GROUT
SCREENING MATERIAL SHALL BE 18X14X0 013 OR
EQUIVALENT DENSITY SCREEN MESH ONLY UNLESS
NOTED ON DRAWING S-2
ALL STRUCTURAL POST SHALL BE ANCHORED TO AN
EXISTING/PROPOSED CONCRETE FOUNDATION FOR
UPLIFT PURPOSES.
TORNADO CODE NOT APPLICABLE TO RISK CATEGORY 1
AND RISK CATEGORY 2 STRUCTURES

71 ASCE/SEI STANDARD 7-22, FIGS, 32 5-1, 32 5-2, AND

G 2-1 THROUGH -4

\\\\\\\\111111,,,1,1
AN

wawy,
/

PROFE!SI(II‘IAL éNGINEER SEAL

SUNROOM CAT 1 (SCREEN ROOM W/ SCREEN ENCLOSURE)
DESIGN DATA: (SITE SPECIFIC DESIGN INFORMATION)

1. ULTIMATE DESIGN WIND SPEED Vult, (3 SECOND GUST)- 130 MPH
NOMINAL DESIGN WIND SPEED Vasd: 101 MPH
2. RISK CATEGORY: 1
3 WIND EXPOSURE: B
4, WIND LOADS:
SCREEN ROOF 6 PSF
SCREEN WALLS (WINDWARD) 23 PSF
SCREEN WALLS (LEEWARD)- 20 PSF
SOLID ROOF- 24 PSF
5 FACTOR APPLIED TO SCREEN WIND LOADS FOR 18/14 0.88
FACTOR APPLIED TO SCREEN WIND LOADS FOR 20,20 1.0

MESH TYPE AND LOCATION SHOWN ON S-2
FACTORS FOR OTHER SCREEN MESHES TO BE DETERMINED BY THE ENGINEER
6 FACTOR APPLIED TO SCREEN WIND LOADS FOR ALLOWABLE
STRESS DESIGN-
7. LIVE LOAD-
300 1b. VERTICAL DOWNLOAD ON PRIMARY SCREEN ENCLOSURE MEMBERS
200 Ib. VERTICAL DOWNLOAD ON SCREEN ENCLOSURE PURLINS
8 SCREEN ROOF TYPE: HIPPED GABLE
9 NON-SCREEN ROOF TYPE: ALUMINUM RISER PAN PANEL ROOF, FLORIDA PRODUCT
APPROVAL, FL16952-R4
10 PROPOSED FOUNDATION (SEE S-2 FOR SIZE AND LOCATION) SHALL BE ADEQUATE TO RESIST
THE UPLOADS FOR THE PROPOSED STRUCTURE

0.6

ST

[35) <% EA ™~ un
s|B8138]l8|8
Alzig8|l2leg]|R
= gle|d|&d|&
2 B
& =)
EE E g =] § =
cla|5|E|=2|¢4
e |2 B|3|8
: a g B [ v
~lElglzla|E
S|IE|s|2]| &
3
g B s EE
e TRRR g
o Juo4sd
S| ﬁigg&,g«
25| cE2%ess
jom S&&.—«%ﬁ H
AL
Qaz g [ w3
v g
Z A
< H 2
)-J)-ﬂ o g
(=9 = g &g
odg
2 & ©g
TN
Qm s
g5 |of
Eg GE
= Ef 3
[ §<
IJ-IDQUE: E“‘g
-—.ma —
SEEH Zz3
EESx ok
AT o3
e 2
25 g
2|
% S
4 ]
S [ - ™ (3]
o v (%] (2]
S =
© d|E|B|2|B
NOTES

wn
p—

ALUMINUM STRUCTURAL IN D E X
MEMBERS
HOLLOW SECTIONS S-1 NOTES
2X2 2"X2"X 0044
-2 DRAWING
H JiMS-3 DETAILS
OPEN BACK SECTIONS S-4 DETAILS
1X2 1 X2 X0.040”
1X3 1"X3 X 0045” S_5 DETAILS
SNAP SECTIONS
2X28M8 2 X2 X0.045"
2K 3 SMS mwmmmmammm oo ennns 2 X3 Xo0072"
2X4SM3 2 X4"X0045"
3X35MS -3"X3"X0.090
SELF MATING (SMB)
2% 4 SMB --- ~2 X4"X0044"X 0100
2X5SMB.~ - 2"X5"X0050"X 0118
2X6SMB:- --2 X6 X0050 X0120”
2X7SMB:- -2 X7"X0057"X0.120”
2 X 8 SMB:- -2 X8"X0072"X0224"
2X9 SMB:- -2"X9"X0072 X0224"
2 K10 SMBi---r-mrrmmse e 2 X10 X0092"X0374"
TUBE SECTIONS
2X2 2 X2 X0090




oV iy,

18X14 SCREEN TO BE USED

X1

S09.LL T4 LdVALS ¥IHE . .«.m.ammn . Vool o uﬁg@%@g € NOISIATYE
. wodsuedogimmm “FLISTFIM
Zl99007d nvaGuVIvATEOf | wooswerbg@ge  IIVICE p7) € NOISIA
£ 768L-728(998)-1 XV Surprmgy WANINOTY AQISTAV] 2 2
£ lvs9c6 14 HALSO4 [ NVI sg/0-8£8(€78)  :ANOHJ — HOLOVHINOD I NOISIARY | &=
& ZvSEE 14 ‘sHmAnydey Gl = 1
Z [vs98€14  NOSNVH " SYWOHL 19905 |6 PHES SSTAAAY 5202/81/70 ALVA MVIQ m S
m 0096514 HLINS M QIAVA INI ‘STIIAYAS wmwﬂ%ﬂ%mw%%mwﬂm 0L£78TZ0°SZ
UTTTVM .
@godTy 40°Td | HONTHTANIONA B SNVId 0494 Loyafodd "MAGINNN 90l
X1
JI-6 LE-G 0§ \9-L AN W/ﬂ/
= JiE g2 = NN
pd >4 10y > >
=<
5 S| S : NN
~ < < g < ) .
M /////1 mm z
B END BM X E
2¥10SM = — <X a m W
- q
/// _ a0 dINSOTX \_\\\J—u?:\M;P %Lmb
l — " :O... A m IA..
— 1 — EN
M L o
-6 V 40,8 .0-.8 +0~.8 - .08 \
:m O \_\_ O \_ O \_ \_ \._n\
PE-ANT-EFNSOTXT N \ /ﬁxﬁ@.
@ — — K % 2 N
Ol ¥ )
= — /
178} 3sl
o O —
= TEE i T AINSBXZ $ ™N
e SEY sl |z ©
= LEE =1l lys w _ _ %
[ sme.@! { o ~—
< =B 52 \\
E—— =5 —& |
e i o _ * \
- _ X ! B /
e e 5 J— Ve
S qINS8XZ
— =
- = _ = \\\
AN &) e » ) ©
| I 2 z 2 e &4
EREEDG N ] 3] . ] 2 N ST XvXY
o~ ~ o~ =
o3 4—
GWSBXZ GINS8XZ — N
= s
o J
jo o] < [aa :
o =
— w3
5 Al 2
&) S
< o
[ i
% o GNSBXT GINSBXZ \
= o3
C =
M ~
= 2 2 o & oE
w o o~ o~ \ﬁ&&o > I
S N
=
= i
= L D i ——— ) AR 94
w 7 .01-.8 \N.\ 40~.C€E 7
= H-u07E 40716
5 e W
= — _ /_/ — _.o-.N_P
Z |} 2|
A g0 dNS0TXZ
£} ~ ]
Z < <
= a & 5 | % %
2 S | . o
b <
= > SR FE s s
o < < & <
wE-6 4€.5 W0~ € W9~ L +9-41
= /
=
Z
=
=
<
S
@)
-
a4
&)
@]
[




FOR WOOD
O RACKET & ()04 LaG SURWS @1 .6 MAK 2 X__PURLINS (SHE -2 FOR SIZE) ALUMINUM GUSSET PLATE (SEE "y,
MINIMUM EMBEDMENT SHALL BE 2 ATTACHED TO BEAM v/ MIN (4) CHARTS FOR SMS SIZE, QTY AND Q “,
OR C T PATTERN N o
FOR CONCRETE. #10X11/2 SM§ ) N “
(3)3/8' CONCRETE SCREWS @ 2 SPACING ® EA, GUTTER OPTIONAL _ N “
BRACKET & (1) 3/6 CONCRETE SCREWS @ 24 O.C. MAX, f < ¥ =
MINIMUM EMBEDMENT SHALL BE 2 o 3 o N 5 ° <
(1}5 OR7"X6 WIDTHX0.072' MIN EXTRUDED 5 3 % E
GUTTER BRACKET @ EA. BEAM & (1) GUTTER BRAGKET 3 s =
BETWEEN BEAMS, ALL BRACKETS W/ (4) #12X 3/4 SMS Z-BRACKET 0.250 = . pat
INTO GUTTER LIP 3 * : EE o
OPTIONAL1 X2 X0.045 OPEN P : L,j =
BAGK W/ (J#12X11/2 @ S T 5 \x R
BEAM & AT GUTTER @ 24 O.C. I~ % BIPSNCN
(MAY USE 2X2 IN LIEU OF 1X2, ] NN ° o PURLIN f'/, A, r R\Q"' \SB\ N
USE #12X 2-1/2 TEKS, SAME T 2'X2'X0.62 RECEIVING CHANNEL W/ (4) “, 43’ Leal L 0, Q‘j\ N
PATTERN APPLIES) sl < . “reee R
o #10X3/4 SMS EACH SIDE OF PURLIN & INTO 7 /‘é\ i\\’ R
BEAM 00 = CARRIER BEAM (MAY USE ANGLES EA SIDE) ‘s, 1 S S { QN g \\\\\
/7 W
ruri 9O ™ 5 OR7 SUPER ik prorEsbibhiL kLY en sl
2 X2 X1/8 X GUTTER it ST T T 5 =1 @
ALUMINUM ANGLE o0 NAIATRA S|lmiwm|sv| e
w/ (4) #12 X3/4'—] bt el 2l 818
SMSINTOBEAMON K ~0 O o 2 X_ SMB EAVE RAIL MEMBER alwm o]l s s
EA SIDE EA. LEG . (UNLESS OTHERWISE NOTED ON §-2) x|l2|8g|8|&]|&
0000 (4) #12 X 3/4 SMS ATTACHED TO PURLIN W/ (2) #10 X (@)
2'X2'X0.062 RECEIVING CHANNEL W/ INTO GUTTER EA SIDE 4 SMS THRU SCREW BOSS &) z
A MINIMUM OF (2) AND UP TO (4) NOTES bt =
#10X 3/4 EA SIDE TO COVER e e . 1. TOTAL NUMBER OF SCREWS PER JOINT EQUALS 4 GUSSET rlE |2 2
EXPOSHD BUAM (KO MORE THAN £ (2)#12X1 1/2 @ BEAM & AT GUTTER @ 24 BEAM M B s3 = | 2 2
AY BE Clg HORIZO H 0,C. (MAY USE 2X2 IN LIEU OF 1X2, USE #12 X TIMES "B" PLATE s |12 (88 |k
™ T HORIZONTALLY) 2-1/2 TEKS, SAME PATTERN APPLIES) 2 PLATE WIDTH SHALL BE DETERMINED FROM T T o/ T 1e ola|L|e %ﬂ =
\ ANGLE OF BEAM AND MINIMUM SPACE x5 | 1/8 w1z | 9/18/36 | 16 4] 2z 2 8 = E
REQUIRED "$3" IS MINIMUM PLATE WIDTH njn alel=El2is ]2
00 3 GUSSET PLATES CAN EXTERNAL OR INTERNAL. 26 | 1/8 | #12] 9/18/36 | 16 1'X2'K0.045 OPEN BACK |12l |88
2'X2 OR2'X3 PURLIN o 4. INTERNAL SCREWS FOR PURLIN CONNECTION 2X7 | 1/8" | #12 | 10/20/40 | 18 ATTACHF;Pl gglﬁf}\;a RAL g)inzmgré alE|ls|le|&
- o .
(SEE 5-2 FOR SIZE) - 5 OR7 SUPER 2’1&2 SESINCLUDED IN TOTAL NUMBER OF w6 T 3/T6 |7z | 1372656 | 15 s 3
GUTTER - " 1
2 X2 X1/8 ALUMINUM ANGLEW/ (4) 5 3/16 GUSSET PLATE CAN BE USED IN LIEU OF 2X8 | 3/16 | #14 |12/24/48 ] 18 Z, L83 g S
#12 X3/4 SMSINTO PURLIN ON EA SIDE 1/8" GUSSET PLATE 2%9 | 3/16 | #14 | 14/28/56 | 20 ) EaRR gy
6. ALL SPLICES WILL HAVE THE SAME PATTERN 7%10] 3/16 | #14 | 15/30/60| 20 [ b usS < =
NOTES 7. ALL SCREWS SHALL BE SPACED EQUALLY 73] 5285 g g -
1. 2X4 SMB BEAM ONLY REQUIRES 4" WIDTH GUTTER BRACKET W/ (2) 3/8 LAGS 8 gggé\g% %‘;21‘{"}35 :S"z;’gm“;ﬁg ALUMINUM % E % % 8 9 E g
. MmO n T N
[o— wn N OHE o £
&) @ i
w
Z, g o@ g =
zZ .22
. .= 4
GUTTER BRACKET & BEAM ATTACHMENT DETAIL BEAM SPLICE GUSSET DETAIL SLOPED OR FLAT PURLIN CONNECTION DETAIL KRG lg gsEk 3
SCALE NTS. SCALE NT.S. SCALE NT.S 03 Z, < A b m J
ol ©
v
Z \n
< M %E
- & o
EDGE MEMBER Ru ; 3 %) %S
ROOF BEAM (SLOPED OR FLAT) OR PURLIN g (o g (& mé
B AERT
PITRRHLIATIIE (2) 410X4 SMS INTO SCREW b
IFI BOSSES FOR EDGE MEMBERS
M
0,125 FLAT PLATEW/
CARRIER BEAM—~ | (12)#10X3/4 SMS OR () #14X 3/4 8
SMS (MIN 1/2 EDGE DISTANCE) HINGE LOGATION 88
— o0
T S e =
M Za o5
EE 2k
2 X2 EXTRUSION—]] 2 x2n z 2 3
2 X2 X025 EDGE MEMBER \ T 7 X2 EXTRUSION 5 2k § Z
ANGLE EA SIDE OR PURLIN DOOR MO8 = u
o m —
Hoo %]
SEE TABLE BELOW FOR l HINGE LOCATloN——\\ 2 238 % £
1 X2' MEMBER FOR SCREENING SCREW SIZE & AMOUNT - L 3
‘\ﬁ (PYP EACH SIDE, EACH LEG) OPTION #1 '] BOTH ENDS SIMILAR . AERS o3
Pd M
#10X11/2 SM5 @ 12 0.C.(MAX)
CONNECTING 1 X2 TO CARRIER BEAM
ROOF | 67 G
BEAM E | oy HINGE LOCATION rs
iz |PERLEG O N e ju
ANGLE 3 8
2% #12 4 S
ow
2X5 #12 5 2 X2 XPURLIN DEPTH RECEIVING CHANNEL NOTES § N
W/ (4) #10X3/4 EA.LEGATTACHING PURLIN
leig :ii 2 Y0 SEAN OR BAVE MBMBER (.060 REC. 1. HINGES SHALL BE ATTACHED TO STRUCTURE W/ (3) #10 X 5/8" SMS MINIMUM I
CHANNEL MIN.} 2  DOOR SHALL BE ATTACHED TO ENCLOSURE W/(2) HINGES MINIMUM 5 = h N m
2X8 #14 7 Z < z |l =z | 5
3 HINGES SHALL BE ATTACHED TO DOOR WITH (3)#10 X5/8 SMS. FASTENA1"X2 X0044 TO o‘_o‘l a s} =} [=}
2%9 114 8 UPRIGHT W/#12 X 1" SMS @ 12" 0.C. AND WITHIN 3 FROM END OF THE UPRIGHT(IF APPLICABLE) m s lz|8|2)| 4
2X10 | #14 9 o 2lzlel8l|k
OPTION #2 B K B N R
DETAILS
BEAM TO CARRIER BEAM CONNECTION DETAIL ROOF BRACING CONNECTION DETAIL TYPICAL SCREEN DOOR CONNECTION DETAIL
SCALE NT.S. SCALE NTS. SCALE N.T.5. —




. \\\\HIIHII/,/
(4) 3/8 © MACHINE BOLTS W/ 3/4 § WASHERS W \\ V" O 5 7[ 7,
SECONDARY ANGLE MIN 0,125 2X8 SMB TO 2X10 SMB, (3) 3/8 © MACHINE BOLTS O e 7,
UPRIGHT mlﬁlgég)()'r REQUIRED FOR 2X3 /" FOR BEAMS UNDER 2X8 SMB, THROUGH CARRIER \\\ N Tl " %
C BEAM AND POST > KM (l . <.
(4) #10X 3/4 SMS FASTENING \ W m N N ) S ¥ 2
SECONDARY ANGLE TO COLUMN i A PRIMARY 2 X2 X0.125 ANGLE 3 : . -
(TYP EACH sms)\ » / y RECEIVING CHANNEL . = N . =
(2) #10X 3/4 SMS FASTENING (H#10X 1% SMS INTO OR ANGLE EA. SIDE (typ) O = .: R =
N / |_—COLUMN TO PRIMARY ANGLE (TYP [ SCREW BOSSES_\ (0625 THICKNESS) = | * ,}/4 VAR =
(8) - CONCRETE SCREW ANCHOR INTO [0 0 O EACH SIDE) e} - . l £ : =
SECONDARY ANGLE(TYP EACH SIDE)~ o - = === = 0 /= == A - . 0 Y bof =
sEETARLY) NO O [ 0 CARRIER BEAM E = . C)$ o &S T
1 X2 BASEMEMBER {TYP = = el —— = 1 T NS
< N BACH SIDE) f - I ’//'9;) .. FLO R\‘?." \gf) N
NZJ Iﬁﬁ&‘%ﬁ%_ FOR RECEIVING CHANNEL: TOTAL (8) SCREWS “, /.. et (}‘\“ ™
N (2) #10X3/4 SMS (TYP) INTO GIRT/PURLIN & 7 N\
ANCHOR SPA (MIN) A (1) CONCRETE SCREW (SEE TABLE) (4) #10X 3/4 SMS (TYP) INTO UPRIGHT/BEAM ¢ 7 g S S ‘O\\U»\\" \\\“
(TYP)(SEE TABLE] ANCHOR INTO PRIMARY ANGLE AND @ FOR ANGLE: TOTAL (8) SCREWS, /v /” ‘\
< _A T1/4 9 CONCRETE SCREW ANCHOR @ 24 (2) #10X3/4 SMS (TYP) @ EA. LEG e ] N
3" [MIN) 0.C. BETWEEN COLUMNS (TYP EACH SIDE) _ -
PROFESSIONAL ENGINEER SEAL
VTR 1. NUMBER OF ANCHORS B IS EACH SIDE INTO THE SECONDARY - alglglalelR
o O/N CRET%?S/C%E%V ANGLE AND DOES NOT INCLUDE THE ANCHOR INTO THE 1X2. {OPTIONAL) 1 X2 o elalalrlals
COLUMN \NCHOR 2 MINIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING == MEMEER FOR SCREENING & 2
SIZE SHALL BE 2-3/4 AT ALL UPRIGHT LOCATIONS, ALL SCREW LENGTHS ) -] ;’gﬁgé" m)}/z sMse > QO z
B |AMUS| AT UPRIGHT CONNECTIONS SHALL BE OF SUFFICIENT LENGTH FOR = = ALUMINUM CONNEGIING %2 TO B .13 2
ACING | REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER POST CARRIER BEAM & POST MIE|z|. |8
2X3 1/4 0 0 DECK IS PRESENT g sl |8lglg
. 3, CONCRETE SCREW ANCHOR DESIGNS ARE BASED ON THOSE LISTED | g 2B =
2X4-1/4 1 2 2 |luwulo 2
ON $-1,D FASTENERS OTHER BRAND & TYPE SHALL BE APPROVED , M2l 2|R |2 |E
2X5 1/4 1 2% BY ENGINEER. < A N ~lElB|s &8¢
2X6-3/8 1 3 4. 2X3W/1X2 CORNER POST SHALL REQUIRE SAME BASE ey ) \_upmcm OR BEAM I lzlZ2|8)| &
2X7-3/8 1 i CONNECTIONS AS 2X4 SHOWN IN TABLE. KICK PLATE ATTACHED TO A | -SNAP OR SELF MATING OR
5. IF FOR AN IN-FILL, TOP OF COLUMN CONNECTION SIMILAR IF ALUMINUM MEMBER W/ (1)--/ f HOLLOW ‘/\ HORIZONTAL BEAM ON 3
2X8-3/8 2 3 CONCRETE LINTEL. #10X3/4' @ 18" 0.C. ITS SIDE (1P REQUIRED) (4] 2 L EE
2X9378 3 3% |6 IFWOOD LINTEL/DECK, DOUBLE LEDGE REQUIRED (MIN 3 %) MAY e NOTE Pt T
SUBSTITUTE LAG SCREW FOR LDT FOR BOTH PRIMARY & e / 1, PERPENDICULAR CARRIER BEAM USE 0 125" RECEIVING CHANNEL WHICH WILL — pEENEE
2X10 3/8 2 4 SECONDARY ANGLES. . / l o | CONNECT TO THE POST W/(4) 3/8 THRU BOLTS USED FOR THE PRIMARY CARRIER [~ g3 ﬁ ]
7 2X2X,045 DOOR JAMB MEMBER SHALL CONNECT SIMILAR TO 2X3 % BEAM, THEN USE (3) 3/8"® MACHINE BOLTS W/ 3/4"® WASHERS TO ATTACH THE &5 g £2 288x
MEMBER, NOTES PERPENDICULAR GARRIER BEAM TO THE RECEIVING CHANNEL, ool TERS© g S
O
1. KICK PLATE TO BE APPLIED TO UPRIGHT CHAIRRAIL OR GIRT IF 2. HORIZONTAL BEAM DETAIL WILL BE PROVIDED IF NEEDED E DI IEES
APPLICABLE T & "
7] < =
Z g2 2 =289y
PR - .= 8
2" X 3" OR LARGER UPRIGHT TO CONCRETE W/WO PAVER PURLIN OR GIRT TO BEAM OR POST DETAIL BEAM TO POST DETAIL R &) 8 g 3 E. g g
DETAILS SCALE NTS SCALE NTS. RZ = mmmrD
SCALE NTS. 2! '_L 2
zZ
< 2
(4) (S1) ® CONCRETE I~ i}
1 X2 X1/8 ANGLE (4)#12X 3/4 SCREW WITH 2-3/4 | L bostsiz [T ; E;
(8) #14 X 3/4 SMS = SMS (TYP TOP AND SIDE EMBEDMENT (MIN EDGE. & 1104 WAV (VAL ol oo | omm | en | o2 -Sé
| Fe DISTANCE FROM DECK U m
] N o5 EDGE=3") i (WAL ol e a5
o o | MIN | . L 3x3 | 2 ¢ | ¥ 12 I A
L] (-] AN AL ol
% o 1—-—0 | | 4% | 2 4 # 2
= o (H)-3/8' ¢ MACHINE BOLTS %6 | 3 6 ¥ 7
I ! 1/8' DIA, STAINLESS 1/8° ALUMINUM PLATE WITH WASHERS OR (HH) TOP VIEW
3/8 © ADJUSTABLE STEEL CABLE ~0 @ 45° ANGLEW/ 1 #14X3/4 SMS
[-] géi'r FOR CABLE - o BREAK @ 90° W/ 5/16 3'X3'K 0,125 ANGLE
- 9 EYE BOLT W/ LOCKNUT (EXTERNAL OR 1 X2 OPEN BACK
o [-] TENSION SIDE VIEW 3/8 WELDED STAINLESS STEEL EYE P & WASHER EA SIDE INTERNAL) OR 0 125 ANCHORED TO CONCRETE S 5
0 RECEIVING CHANNEL W/1/4 X3-1/2 N
° 18 9 O AW WITH 3374 MASONRY ANCHOR 6 an =
STAINLESS ¢ EMBEDMENT (MIN. EDGE MAX BACH SIDE OF POST S o2
STEEL CABLE A 1 @ (MIN) WASHER BENBATH NUT DISTANCE FROM DECK AND 24 0.C. MAX 2 =&
— | \_[9) #14 X3/4 SMS EDGE=3") t: & 5 =
d{ L. z a2 3
L’ NOTES @1 0c = Zg é :
[} WHEN USING CORNER U 3=
PERIMETER__ 4 AL 2°X2'K 1/8' EXTRUDED ANGLE CONNECTION OPTION #2 ReSE =2
FRAMING " o] —r 5 a
ON 45° ANGLE CONNECTION CABLE MUST BE o E o Za
SIDE VIEW WITHIN 6 OF CORNER OR kY ok
OPTION #1 TOP VIEW PRIMARY MEMBER. OPTION #3 4 < AESS O3
P & .§/\ (52) MIN SPACING
(o]
,3) é g 2 X2 X.125 CLIP MAY BY PLACED ON TOP OR SIDE OF &~ NOTES w ..
AN DECKW/ (2)1/4'X3 SLEEVE ANCHOR @ 2 EDGE I TOP OF CONCRETE 1. CONCRETE SCREW ANCHOR DESIGNS ARE BASED ON TITEN HD (S1) ® SCREW ANCHORS e 10
~ DISTANCE FROM TOP OR SIDE OF CONCRETE. - OTHER SIZE OR TYPE OF ANCHORS SHALL NOT BE USED 2] g
{ AN TOP OF CONCRETE 4 2. FORPATIO COVERS AND CARPORTS DISREGARD THE 1X2 OPEN BACK SCREEN MEMBER ON m =
a7 2500 PSI 4 / I 4 THE FOUNDATION TYP =
4 NOMINAL SLAB MINIMUM—— = N CONCRETE N 11/2 X5-1/2" ALUMINUM 3 MINIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING SHALL BE 2-3/4" AT ALL POST = ]
<4 W/WELDED 81 L < s oxs MASONIY AcHor (N < LOCATIONS, ALL SCREW LENGTHS AT POST CONNECTIONS SHALL BE OF SUFFICIENT LENGTH -2 T O A
WIRE OR ngs/oNRY ANCHOR 23/4 EMBEDMENT) 4 FOR REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER DECK IS PRESENT Zz s 212z 2
3/8 9X 3 MASONRY FIRERMESH (MIN 2-3/4 4, MINIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING SHALL BE 2-3/4" AT AT ALL m 3 ; slgt g
ANCHOR™] W rd{ = EMBEDMENT) QYU 4 UPRIGHT LOCATIONS, ALL SCREW LENGTHS AT UPRIGHT CONNECTIONS SHALL BE OF S S| 2|8
i / a4 A SUFFICIENT LENGTH FOR REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER 2 w |2 (BB |h
. - DECK IS PRESENT
OPTION #1 OPTION #2 gxs ”NEALN‘;&%'SB‘}[—/ 5  DETAIL MAY BE FLIPPED AS NEEDED DETAILS
OPTION #3 6. USE1/4 X3'LAGSCREWS IN LIEU OF CONCRETE SCREWS FOR WOOD HEADERS, JOISTS,
(USE WITH FOOTING ONLY) AND GIRDERS
CABLE CONNECTION AT CORNER AND FOUNDATION ALUM., POST CONNECTION DETAIL
SCALE NT.5. SCALE NTS. —




COMPOSITE ROOF-
CHART #1 #12XPLUS1 OF PANEL THICKNESS
CARRIER BEAM | QTY #12X1 SCREWS @ 12 SMSW/ 1 @ NEO-WASHERS @ 8' 0.C.
SIZE (H) 0.C. MAX AND (4) @ EACH PER PANEL FOR 3 'X12
2X4/2X5 2 BEAM STRAP PAN ROOF*
" #12X3/4 SMSW/ 1'p NEO-PRENE
2X6/2X7 3 (1)5 OR7"X6 WIDTHX 0.072
T x/9/zx10 = MIIN EXTRUDED GUTTER WASHER2 FROMEND &2 0.C.PER
BRACKET @ EA, BEAM & (1) PANEL
GUTTER BRACKET BETWEEN - ™
BEAMS, ALL BRACKETS W/ (4) #12 Tl
X3/4 SMS INTO GUTTER LIP - -
o OLID ROOF-. ~ ~
“ e et
[ < 0 O dher
BEAM
oo ™ 5 OR7 SUPER H
Y | GUTTIR (H) 3/8 @ MACHINE
BOLTS WITH 3/4
WASHERS EACH SIDE
R o0/ 87 (SEECHART #1)
0000
CARRIER_/E g1
BEAM (SEE 5-2 UPRIGHT OR POST
SEE GUTTER BRACKET & BEAM FOR SIZE) 2 L ART
ATTACHMENT DETAIL" FOR THRU BOLTS, IF
FOR BEAM TG GUTTER CONNECTION 2% SMB
SEE GUTTER BRACKET & BEA | CONNECTION
R T&BEAM SIMILAR TO D §-3.)

ATTACHMENT DETAIL" w
FOR PURLIN TO GUTTER CONNECTION
et o

ALTERNATE SOLID
ROOF PANEL TO
CARRIER BEAM
CONNECTION,
COMPOSITE ROOF
ONLY

#10X3/4 SMS1
NEOPRENE
WASHER @ 8
0.C. TOP AND
BOTTOM
ATTACHING
C-CHANNEL TO
ALUM PANEL

CARRIER BEAM
(SEE §-2 FOR SIZE)

#12X3/4' SMS1 @8 0O.C.
TOP & BOTTOM ATTACHING
C-CHANNEL TO ALUM. BEAM

AN

PURLIN
o0

~{ 0° "/; OR 7' SUPER
N GUTTER

-

CARRIER BEAM CONNECTION DETAIL
SCALE NT.5.

RECBIVING CHANNEL W/

#14 SMS (USE SCREW LENGTH EQUAL TO COMPOSITE,
PANEL THICKNESS PLUS (1) INCH),1 1/4 NEOPRENE
WASHER @ 8' 0.C, PER PANEL

4 GUTTER BRACKET @ 24 0.C.(3)

#10 SMS @BOTH CONNECTION

= POINTS

~ " OPTION #1 SOLID ROOF~

- ON GUTTER LIP
"~ OPTION #2 SOLID ROOF: 5"OR7 SUPER
. : ON GUTTER FACE - GUTTER
e e e e

i S —

RECEIVING CHANNEL W/
(2)#12X1 SMS1 1/4 NEOPRENE WASHER @
16 0.C.TO FACE OF GUTTER.
ATTACH TOP AND BOTTOM FLANGES W/
#10 X 1¥ SMS @ 8' 0.C. PER PANEL TOP AND
BOTTOM OF SOLID ROOF

11/4 NEOPRENE WASHER REQUIRED @ 8
0.C. PER PANEL TOP OF SOLID ROOF

(2)3/8"X21/2 MIN
LAG SCREWS 24 @ (USE CONCRETE TAPCON
FOR CONCRETE APPLICATION IN LIEU OF WOOD
APPLICATION)

FOR COMPOSITE PANEL: #10 SMS @ 8 0.C.
{TOP AND BOTTOM)

FOR RISER PAN (1} #10 SCREWS PER 12
WIDTH CONNECTING PAN TO HEADER (TOP)

EXISTING HOST STRUCTURE (WOOD
OR MASONRY)

1l
(MIN)

(2) #10 SCREWS PER 12 WIDTH
CONNECTING PAN TO HEADER
(BOTTOM OR BACK OF PAN) WOOD
APPLICATION ONLY

FORWOOD

(2) #14X2 WOOD SCREWS PER 12 WIDTH
CONNECTING HEADER OR CHANNEL TO FASCIA,
PFOR CONCRETE,

1/4 X3 MASONRY ANCHORS 24 0.C. (2) ROWS
STAGGERED CONNECTING HEADER OR CHANNEL TO
HOST

-\_pon RISER PAN (4) #10 SCREWS PER 12'
WIDTH CONNECTING PAN TO HEADER
(BOTTOM)

BREAK FORM HEADER OR RECEIVING
CHANNEL MIN 090
NOTES

1. IF ATTACHING BELOW OVERHANG TOP SCREW OF REC. CHANNEL MAY BE OMITTED AND
BOTTOM SCREW TO BE UP-SIZED TO #14

SOLID ROOE TO HOST DETAIL
SCALE NTS.

OPTIONAL 1 X2 X 0,045 OPEN BACK

W/ (2)#10X 2 THRU SCREW BOSS (2)3/8 X2 MIN EMBEDMENT LAG

SCREW @ BEAM & (1) @ 12 0.C.

< peaM | OO

sLoppED | O © 1

2 X2 X1/8 XALUMINUM ]
ANGLEw/ (4) #12 X3/4 SM5— o
INTO BEAM ON EA SIDE EA, LEG

OPTIONAL:
2'X2'X0.062 RECEIVING CHANNEL W/ A MINIMUM OF
(2) AND UP TO (4) #10X 3/4 EA SIDE TO COVER EXPOSED
BEAM (NO MORE THAN 6 MAY BE CUT HORIZONTALLY)
OPTIONAL1 X2 X 0,045
OPEN BACK W/ (2)#10X 2
THRU SCREW BOSS

N

00
2'X2 OR2'X3'PURLIN b
(SEE $-2 FOR SIZE) ~| 0f

|

2 X2 X% XALUMINUM ANGLEw/ (4)

#12 X3/4 SMSINTO PURLIN ON EA SIDE &
(1) 3/8' @ LAG SCREW THRU 1°X2 OPEN:

BACK INTO FASCIA (MIN, 2 BMBEDMENT
TYP) & (1) @ 12 O.C.

PURLINS TO FASCIA ATTACHMENT DETAIL
SCALENTS

\\\\\‘g ?0 ST [lﬁ;/ / /////,,/
" £, 2
b 3
5 int
SIS
: \z\.?y{@:i\\g

NG

PROFESSIONAL ENGINEER SEAL

SEE NOTE 5—\SLAB HEIGHT TYP (MIN. 4 )~y

|
- u e :
- 4 4 \,_1__|_‘a____ﬁ$
o
R [t AA |
I .
: «

REBAR CONTINUOUS W/ 25
4IN___OVERLAP AT ALL JOINTS ON
3 CHAIRS (SEE CHART FOR
REBAR SIZE & QUANTITY)

SEE SHEET S-2 FOR
PROPOSED FOUNDATION
SIZE AND LOCATION

1 PERFT MAXFOR 2 -0
|- MIN BEFORE STEEPER
SLOPE

SLAB HEIGHT TYP (MIN 4')—-‘

oy
SLAB AND — —
FOOTING N $
[ [
- SLAB
. e ]
L 4 %' SEE NOTE 5 REBAR BY FOOTER WIDTH
= o . ] . w5 REBAR¥4 REBAR
P \m e QTY. | QTY
e REBAR CONTINUOUS W/ 25 S—
e OVERLAP AT ALL JOINTS ON 3 8,10",12 | 8 1 1
CHAIRS (SEE CHART FOR REBAR 8 10" 12 | 10 1 1
we SIZE & QUANTITY) 8", 10", 12" [ 12" 1 2
8", 10", 12" | 16" 3 4
LINEAL RIBEON FOOTING REBAR SIZES ARE NOT TO BE MIKED
. (CONTRACTOR MAY USE #5 OR #4)
NOTES FOR ALL FOUNDATION TYPES

1 THE FOUNDATIONS SHOWN ARE BASED ON A MINIMUM SOIL BEARING PRESSURE OF 1,500
PSF THE BEARING CAPACITY OF THE SOIL VERIFIED BY A LICENSED CONTRACTOR PRIOR TO
ANY POURING OF CONCRETE,

2 THE SLAB/FOUNDATION MUST BE CLEARED OF ALL DEBRIS, AND COMPACTED PRIOR TO

POURING OF ANY CONCRETE.

CONCRETE MEET THE SPECIFICATIONS IN THE S-1 NOTES PAGE.

HEIGHT AND WIDTH ARE INTERCHANGEABLE EXCEPTION 12 WIDTH X 16" HEIGHT IS NOT

APPLICABLE

5. WHEN PINNING USE A MINIMUM OF (1) 12 #5 REBAR W/ 6" EMBEDMENT @ 48" 0.C.
REQUIRED FOR AGCESSORY STRUCTURE TO ACCESSORY STRUCTURE CONCRETE BUT
OPTIONAL FOR ACCESSORY STRUCTURE TO HOST STRUCTURE CONCRETE, HOWEVER SLAB
ONLY MUST BE PINNED TO HOST STRUCTURE,

-~ w

FOUNDATION DETAIL
SCALE NTS.

COMPOSITE ROOF

#12 X PLUS 1 OF PANEL THICKNESS SMSW/ 1'9
NEO-WASHERS @ 8' 0.C. PER PANEL FOR 3 'X12

PAN ROOF*

#12X3/4 SMSW/ 1'p NEO-PRENE WASHER 2 FROM

END &2 O.C, PER PANEL

CHART #1 T lm-l-
ROOF | 3/% SMS = 2= 501D ROOF- = C
PER SIDE =20 -
BEAM QY I E N T
sizE | PER LEG R
OF ANGLE =
2%4 | #12 4
7X5 | iz 5 <
X6 | #12 5 BEAM OR
2X7 #14 6 PURLING
(FLAT OR
7X8 | #14& 7 ore)
7%9 | #1% B
2X10 | #14 5
2' X2 X 090 ALUM RECEIVING CARRIER BEAM
CHANNEL INTO BEAM AND INTO CARRIER (SEE S-2 FOR SIZE)
BEAM (SEE CHART #1 FOR SMS QTY.)

SEE CHART #2 FOR SCREW SIZE &
AMOUNT (TYP EACH SIDE, EACH LEG)

2 X2 XY ALUM
RECEIVING CHANNEL
w/ (4)#12 X3/4 INTO
BEAM & (4) #12X3/4
INTO CARRIER BEAM

#12X3/4 SMS1 @8
0,C. TOP & BOTTOM, e
ATTACHING C-CHANNEL
TO ALUM, BEAM

ALTERNATE SOLID
ROOF PANEL TO
CARRIER BEAM
CONNECTION
COMPOSITE ROOF
ONLY

#10X 3/4 SMS
1 NEOPRENE
WASHER @ 8'
0.C. TOP AND
BOTTOM
ATTACBING
C-CHANNEL TO
ALUM. PANEL

~COMPOSIT]

CARRIER BEAM
[~ —(SBES-2 FOR smﬂ)“"{"

N

PANEL TO BEAM CONNECTION ALT. DETAIL
SCALE NTS.

W <} ¢ &~ I'2)
fo=3 wy mn D 8
mle | s8R
Q Ly (3] o ~ ~
g 2|l 2|8 &
1
721 jam]
SlElZ 2],
S| |5|E|%|¢g
- z n 8 5 =]
S I c |z |2 =
SIE|S |28
u g
" £
4 s B a3 EE
[ IO N
m Bsod 88
73 SE288¢8
EPRoedy
= JENEEER
= BEEIEER
o] @ &
Z 4 08 g8,
M|y guEES
03 Z < [ mLﬁE X}
< &= 2
S . 28
= ,gv‘é«uﬁg
:.;o%
A = g
B =
a i
< 3 [
g
52 |33
mmga =
e @ 5 =e
oM® D Za
R ok
aEDS oS
e 8
= S
s =
5 8
o | w
8 2lg e
© wlElelal|B
DETAILS

S-5




